PI Chap 7. 9. @ Let Xi denote the i-th urn is empty X= { | if i-th urn is empty E(Xi) = 1xp(i-th um is empty) + 0xp(i-th um is not empty)  $= (\frac{1}{1} \cdot \frac{1}{1+1} \cdot \dots \cdot \frac{1}{n}) = \frac{i-1}{n}$  (X = number of urns that are empty)  $(X = \frac{n}{1+1} \cdot \dots \cdot \frac{1}{n}) = \frac{n}{n}$   $(X = \frac{n}{1+1} \cdot \dots \cdot \frac{1}{n}) = \frac{n}{n}$ (D) p(ball n in urn n).p(ball n-1 in urn n-1). - p(ball 1 in urn 1)  $=\frac{1}{n}\cdot\frac{1}{n-1}\cdot \cdot \cdot \frac{1}{1}=\frac{1}{n!}$ YS. p(N=n)=p(X1>X27...>XN-1<XN)  $= p(X_1 \nearrow X_2 \nearrow \dots \nearrow X_{N-1}) - p(X_1 \nearrow X_2 \nearrow \dots \nearrow X_N)$  $= \frac{1}{(N-1)!} - \frac{1}{N!} \qquad n=2,3-\ldots \infty$  $p(N \ge n) = \sum_{i=n}^{\infty} p(N=i) = \sum_{i=n}^{\infty} \left[ \frac{1}{(i-1)!} - \frac{1}{i!} \right] = \frac{1}{(n-1)!}$   $n = 2, 3, ..., \infty$ :  $E(T) = \sum_{n=1}^{\infty} P(N \ge n) = \sum_{n=1}^{\infty} \frac{1}{(n-1)!} = e^{-\frac{1}{2}}$ 40.  $f_{Y}(y) = \int_{0}^{\infty} \frac{1}{y} e^{-(y+\frac{x}{y})} dx = \frac{1}{y} e^{-y} \int_{0}^{\infty} e^{-\frac{x}{y}} dx = e^{-y}$   $\Rightarrow Y \sim Exp(1) E(Y) = 1$  $E(X|Y) = \int_0^\infty X f_{xy}(xy) dx = \int_0^\infty X \frac{f(x,y)}{f(y)} dy = \int_0^\infty X \cdot y \cdot e^{\frac{x}{2}} dx = y$ 

40. 
$$f_{Y}(y) = \int_{0}^{\infty} dy e^{-(y+\frac{x}{y})} dx = \frac{1}{y} e^{-y} \int_{0}^{\infty} e^{\frac{x}{y}} dx = e^{-y} \Rightarrow Y \sim Exp(1) E(Y) = E(X|Y) = \int_{0}^{\infty} x \int_{X|Y} (x|y) dx = \int_{0}^{\infty} x \frac{f(x,y)}{f_{Y}(y)} dy = \int_{0}^{\infty} x \cdot \frac{f(x,y)}{f_{Y}(y)} dx = y$$

$$\therefore E(x) = E(x|Y) = E(Y) = 1$$

$$E(XY) = \int_{0}^{\infty} \int_{0}^{\infty} Xy \cdot y e^{-(y+\frac{x}{y})} dx dy = \int_{0}^{\infty} e^{-\frac{x}{y}} \int_{0}^{\infty} x e^{-\frac{x}{y}} dx dy$$

$$= \int_{0}^{\infty} e^{-y} \left[ -yxe^{-\frac{x}{y}} \right]_{0}^{\infty} + y \int_{0}^{\infty} e^{-\frac{x}{y}} dx dy$$

$$= \int_{0}^{\infty} y^{2}e^{-y} dy = 2.$$

$$(-\infty (x, Y) = E(XY) - E(X)E(Y) = 2 - |\cdot| = 1$$

$$45. \textcircled{O} (\text{Lov}(X_1 + X_2, X_2 + X_3)) = (\text{Lov}(X_1, X_2) + \text{Lov}(X_1, X_2) + \text{Lov}(X_2, X_2) + \text{Lov}(X_3, X_3))$$

$$= (\text{Lov}(X_1 + X_2) + \text{Lov}(X_1) + \text{Lov}(X_2) + \text{Lov}(X_2 + X_3) = 2$$

$$\text{Lov}(X_1 + X_2) = \text{Lov}(X_1 + X_1 + X_2) = \frac{1}{\sqrt{2 \cdot 2}} = \frac{1}{2}$$

$$\textcircled{O} (\text{Lov}(X_1 + X_2, X_3 + X_4)) = (\text{Lov}(X_1, X_3) + \text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_3) + \text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4)) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_3) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_3) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_3) + \text{Lov}(X_2, X_3) + \text{Lov}(X_2, X_4) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_3) + \text{Lov}(X_1, X_4) + \text{Lov}(X_2, X_4) = 0$$

$$\text{Lov}(X_1 + X_2, X_3 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) = 0$$

$$\text{Lov}(X_1 + X_1 + X_2 + X_4) = (\text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) + \text{Lov}(X_1, X_4) = 0$$

$$\text{Lov}(X_1 + X_1 + X_2 + X_4) = (\text{Lov}(X_1 + X_4) + \text{Lov}(X_1 + X_4) + \text{Lov}(X_1 + X_4) = 0$$

$$\text{L$$

$$P^{3} \otimes \otimes (x, Y|z) = E[(x - E(x|z))(x - E(x|z))|z]$$

$$= E[xY|z] - E(x|z)E(x|z) - E(x|z)E(x|z) + E(x|z)E(x|z)$$

$$= E(xy|z) - E(x|z)E(x|z) - E(x|z)E(x|z) - E(x|z)E(x|z)$$

$$= E(xy|z) - E(x|z)E(x|z) - E(x|z)E(x|z) - E(x|z)E(x|z)$$

$$= E(xy|z) - E(x|z)E(x|z) + E(x|z)E(x|z) - E(x|z)E(x|z)$$

$$= E(xy|x) - E(x|z) + E(x|z)E(x|z) - E(x|z)E(x|z)$$

$$= E(xy|x) - E(x|z) + E(x|z)E(x|z) - E(x|z)E(x|z)$$

$$= E(xy|x) - E(x|x) + E(x|z)E(x|z) - E(x|z)E(x|z)$$

$$= E(xy|x) - E(x|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) - E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) - E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) - E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) + E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) + E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) + E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) + E(x|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x) + E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(x|x)E(x|x) + E(x|x)E(x|x)$$

$$= E(xy|x)E(x|x) + E(x|x)E(x|x)$$